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3,300 &

o
o

0¥

33,000 ¥

23,100 &

13,200 &

9,900 A

8,800 &

7,700 Y

2023 11 € 1Y~2023 11 €30

2024 39 12~20244 48 30Y

-7t = 12 70T & 6,600 A Ol V|7 BE T & 2200 €2
stol7| 7t

20244 1€ 12Y~20241E 22 29

Y = 12707 € 7,700 § Ol wol7|7E BR = & 2,200 ¥ ol
<2177t

-2023H 2@ 1¥~2023H 98 Y

2023 12€ 1Y€~2023 128 14

It = 12707t & 8800 | Ol woV|ZH BE = & 2200 ¥ &
20177t

2023 1€ 12~2023 4 131

Y = 9HEZE & 9900 ® Ol oYt R = & 2200 ¥ gl
<0177t

2023 12 €15 2~2024 1 1€ 11

-7t = 12 742 E 11,000 ¥ ol golvjzt R 2 & 2,200 ¥ 2l
<2177t

20244 227 U2024H 229

-7t = 547t € 14300 2O

<2177t

2024 227 2~2024 4 2 €29 Y

-7t = 54T E 16,500 | 2O

<2177t

2024 2 @7 ¥~2024H 2829

7t = 574z € 7,700 © Ol

ol 7t

2022 11 €1Y~2023 4 3¢ 8¢

7t = 6727t & 9900 ¥ &Ql, &7 BE T EoAFAH QS
ol 7t

20233 32€92~2023H 4 4

-7t = 12 747 219,800 ¥ Ol Eol7|Zt ZR 3 2 4400 ¥ Ol
<2177t

2023 102 12~20234 10 231¢

-7t = SiX| HAHK| 15,400 ¥ &l

<177t

-2023' 4 48 5%~2023H 58 31¢

-7t = 7037 2 33,000 A Ol o)t B T & 4400 | €2
<2177t

20239 9@ 9¥~2023H 9&30Y

20238 11" 122023 11 €30Y

2024 39 12~20244 48 30Y

Y = 127027 & 19,800 ¥ QI oYzt TR = € 15400 ¥ &Ql
<177t

2024 18 12Y€~2024H 2 29

-7t = 12 747 & 20,900 ¥ ol golv|zt R = & 15400 ¥ el
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2023 2@ 1¥~2023H 98 Y
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-7t = 12 747 & 22,000 ¥ ol ozt 2 = & 15400 ¥ el
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<2017 7t

5,500 ¥ 2023 1€ 12~20234 131
It = 9HEZE & 23,100 ¥ =Ql, 27| BE T A 15400 ¥ 2ol
JSH01 7| 7H
4,400 ¥ 20234 12°€ 15 ¥~2024 A 1 % 1Y
oE S

Ity = 1207 € 24200 @ 2l 2oV2t B2 = & 15400 ¥ &9l

r

eIz

3,300 ¥ -2024 4 38 16 €~2024H 3 25
=13
=

It = 4047 & 6600 W EOl wOVIZH BE F & 55002 ol
<2oI7| 7t
1100 9 2024 39 52U~2024 3 3 15Y
U 20249 39 26 Y2024 39 31Y
LY H 2 S(100+1GB) 9,900 It = 40HE7t & 8800 W &l &t B2 F & 4400 2 o
1,000 & 2024 4 21 Y~2024H 48 30¢
o -7t = 4007 E 8900 @ QI woIT|Zt BR = H 4400 Y 2ol
<2oI7| 7t
0¥ 20244 38 12~20244 38 4¢
7t = 5UHEZE & 9900 @ 2O, oYt R = & 4400 ¥ gl
H017| 2H
3,300 ¥ 20243 38 16 ¥~2024H 42 30 Y
-7t = 4047 € 7,700 @ 2O, &RV BE = & 63008 O
oIzt
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It = 407 & 9900 @ Ol oYzt R = & 4,700 ¥ gl
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Y = 5O 11,000 ¥ el gelv|zt B2 = E 4700 £

o
o

<BHOI7|7H
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.ol 7k
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<0177t

1,200 20224 3 1Y~20224 38 31
-7t = 4047 22,550 A ol 2olv|7t BE = & 8800 ¥
<0177t

17,750 & 2022 58 12~2023H 102 31
-7+ = SR MR & 11,000 ¥ &0l
<2oI7| 7t

0|0F7| 200 & 5GB+ 28,750 & 12250 9 2022 41 Y~2022H 4 30Y

Y = 6 JHEZE & 16,500 ¥ QI wRI7|ZH BE = & 11,000
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2,350 ¥ 2022 32 1Y~2022H 3¢ 31¢
7 = 474€7 & 26,400 @ EQI, EOVIZH BR = & 11,000 ¥
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SH7H 0] 0k 7|8l S(100 £+10GB)

SHH|0]OF 7|8l S(200 = +10GB)

SHA|O]OF 7|8l S(100 = +15GB)

SHH|0]OF 7|8l S(200 =2 +15GB)

st7H 0] 0k 7138l S(300 £+15GB)

st7H 0] 0k 7|8l S(300 £+10GB)
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9,900 &
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11,550 A
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11,000 A

9,900 &
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-2023 12 €1 Y~2023 128 14¢
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20234 12 ¥ 152~2024 4 1€ 11 Y
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Zol7|zt
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<ol 7t
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<ol 7t

20249 481 ¥~2024H 4830Y
7t = 12 70€ 7F 12,100 & &Ol, #oly
=il Py

2023 22116 ¥~2023 4 930
-7t = SRl HAHK| & 9,900 ¥ &QI
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-20234 10 €1 ¥~2023H 11 €30
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SH7H|0]OF 7|8l S(500 2 +10GB)

S| 0]0F 7|8l S(1000 £ +10GB)

SHA|0|OF 7|8l S(100 & +20GB)

26,400 ¥

30,800 ¥

31,900 &

16,500

13,200 ¥

12,100 &

11,000 &

9,900 &

20,900 ¥

17,600 &

14,300 ¥

13,200 ¥

12,100 &

23,100 &

19,800 ¥

18,700 ¥

17,600 ¥
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1270 7+ 16,500 & &9QI, &ol7|7t
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=
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o rm o
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=
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0
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It = SK| FOHA Y 9,900 @ Ol
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-7t = 12 70 7t 13,200 & &I, Q1|7 B
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ezt
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ezt
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-2023 4
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2024 32 12€~2024 4 48 30¢
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SHH|0]OF 7|8l S(200 2 +20GB)

St 0] Ok 7|8 S(300 & +20GB)

St 0] Ok 7|8 S(500 & +20GB)

SHH| 0] OF 7|8l S(1000 £ +20GB)

32,450 ¥

33,000 &

35,200 ¥

39,600 &

16,500

15,400

20,350 &

24,200 &

20,900 ¥

19,800 A

18,700 A

25,300 ¥

22,000 ¥

20,900 &

19,800 A

29,700 A

26,400 A

23,100 &

1212Y~2024H 02¢ 29

12702 2+ 14,300 &

&to|

=

=

1281¢~2023 4 1214

12704 2+ 15400 & &

ol

- ZoI7|Zt

20234 12 ¥ 1528~2024 4 1831 ¢
-7t = 12 70 7F 16,500 ¥ & QI &0l
- Zol7|Zt
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-7t = 12 70 ZF 12,100 ¥ QI &0l
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2023 2 216 ¥~2023 A9 30 Y
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- ZoI7|7t

-20239 10 €1 ¥~2023 11 €30
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2024 1€ 12~2024 4 49 30
S7H = 12 7K 7 13,200 o Ol &0l
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-7 = 12 7K 7 14,300 ¥ QI &0l
0177t

-2023 4 2216 2~2023 4 9 €30 Y
7t = SR kK| & 9,900 & &Q

o ZolT|zt

-2023 ' 10 €1 2~2023 4 11 €30¢
S7H = 12 7K 7t 13,200 ¥ QI &l
- ZolT|zt

2024 1€ 12~2024 4 48 30¢
7t = 12 70€ 7F 14,300 @ &Ol, #oly
- ol7|7t

20234 12 €1 Y2023 12831Y
7t = 12 71€ 7F 15,400 & EOl, Eoly
<177t

20234 2216 Y~2023 13 9230
7t = SR HAHK| & 9,900 ¥ &QI

. gol7|zt

20234 10 €1 Y~20234 11 ¥30Y
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2H7H 0] 0k 713} S(100 & +30GB)

SHH|0]OF 7|8l S(200 = +30GB)

St 0] 0k 7|8 S(300 = +30GB)

SHH|0|OF 7|8l S(500 & +30GB)

40,700 &

41,250 &

41,800 &

44,000 &

22,000 &

31,900 ¥

27,500 &

28,600 A

26,400 ¥

29,700 &

33,000 ¥

29,700 ¥

28,600 &

27,500 ¥

34,100 ¥

30,800 &

29,700 &

28,600 &

o ol7|7t

20234 12 €1 Y2023 12€31Y
7t = 12 70 2 17,600 o QI &1
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-20234 10 €1 ¥~20234 11 €30
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-2023H 10 €1 ¥~2023 11 €30
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0177t
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.ol 7k
38,500 & 2023 2316 €~2023 4 9&30¢
7bel & #x| RAK| ¥ 9900 Y &l

. golz|zt

35200 -2023 10€1Y¥~20234 1130
JHY = 12 70E ZF 13,200 @ O, EHOY|IZt BR

ot
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e
o

2H7H 0] 0FZ| 3} S(1000 = +30GB) 48,400 & 33,00 & -2024

H 38 1¢
-7t = 1270 7t 15400 | 2Ol &Ql7|7t BE = 9,900 & &l
. Ho17| 7t
31,900 & 20244 121 Y~2024H 2 €29
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- 2oI7|Zt
30,800 & 20234 12 €1 Y~2023 12831Y
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9,900 & 22023 2916 Y~2023 1 3231 Y
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